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bounded buffer:monitor

begin S:sequence of message;
notfull,otempty:condition;
comment N is the maximum length of S;

procedure append(x:message);
begin  if S.length=N then notfull.wait;

S:=5@ {X)3

if notempty.queue then notempty.signal;
end;

procedure remove(result x:message);
begin if S.length=0 then notempty.wait;
x:=S.first;
S:=3.rest;
if notfull.queue then notfull.signal;
end; :

5= ( s

end
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bounded buffer:monitor

begin A,R,S:sequence of message;
notfull,notempty:condition;
comment N is the maximum length of S;

procedure append(x:message);
begin if S.length=N then notfull.wait;
\ A:=A@<X);
S:=S@(x);
if notempty.queue then notempty.signal;

end;

procedure remoVe(result X:message);‘
begin if S.length=0 then notempty.wait;
x:=S.first;

S:=S.rest;

R:=R@{x);

if notfull.queue then notfull.signal;
end;

A:=R:=S:={);
énd
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